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If X is negative, is x < -3?

(1)x%>9

(2)x3<-9

A. Statement (|) ALONE is sufficient, but statement (2) alone is not sufficient.
B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

D. EACH statement ALONE is sufficient.
E. Statement (1) and (2) TOGETHER are NOT sufficient.
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 What is the value of x? o |s x>2?

e (1) x2=4 * (1) x=1

e (2) x is positive * (2) x+1=2

o E—Z =AM [E]Z o) * Yes or no #E[O|Z(T]
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How many minutes long is time period M?
(1) Time period M is 4 hours-long.

(2) Time period M starts at 9 a.m.and ends at | p.m.
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If X is negative, is x < -3?
(1)x?>9
(2)x3<-9
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In the xy-plane, the sides of a certain rectangle are parallel to the
axes. If one the vertices of the rectangle is (-1,-2), what is the
perimeter of the rectangle!

One of the vertices of the rectangle is (2,-2).

One of the vertices of the rectangle is (2,3).
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Is x > 3!
(1) x?=
(2) x+2=4
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a1,22,a3,...,a15

In the sequence shown, an=an-1+k, where 2<n=<15 and k is a nonzero
constant. How many of the terms in the sequence are greater than |0?
(1)ai=24

(2)ag=10
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Marta bought several pencils. If each pencil was either a 23-cent
pencil or a 21-cent pencil, how many 23-cent pencils did Marta buy?
(1) Marta bought a total of 6 pencils.

(2) The total value of the the pencils Marta bought was 130 cents.
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Linda put an amount of money into each of two new investments, A and B, that pay
simple annual interest. If the annual interest rate of investment B is |2 times that of
investment A, what amount did Linda put into investment A!

(1) The interest for | year is $50 for investment A and $150 for investment B.

(2) The amount that Linda put into investment B is twice the amount that she put

into investment A.
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